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Here he says; ‘in my presence’ - wp3 'xo7

OVERVIEW

727 maintains that if the reason for saying 192 is on account of A7 7y QTP
then there is no need to say 2n31 °193,. He rejects s'%27 argument that 4192
an31 is required in order *®7m°K? X X577, for 7727 maintains that vx7 01°p and
mvw ovp are totally different. van 01p requires the %W to say 192, while
for mww ovp even Ny is sufficient. Therefore, 727 maintains there will be
no *oY7r°R. In order for this refutation to be valid, we must assume that (727
is of the opinion that) X217 will also agree to s'727 argument that *ny7> will not
be valid by a v3, and only "192 is acceptable. Otherwise how is 727 refuting
X211? The question here is how do we know that X237 agrees with this
assumption, and why does he agree. In fact, later the X773 will state, that X2
maintains, 72 X? o2 YT MR 9D XI7 WK, which indicates that 1y is
valid. In the following three’* moon, it will become relatively clear how
Moo approaches these issues.

To testify that the vx was executed mnw>, one need be at the (writing and)
signing of the vi and testify 1"921 1"92. Otherwise it is hearsay and not an
admissible testimony. To testify that he recognizes the signatures, one need
not be present at the signing.

- Y9 PN NPT Yax
However, if the i1 mow will say I know (that it was written w5 and I

recognize) the signatures, it will not validate the v.
=90 P77 0NN 2NI) )92 9INVIT NNYD)I

and as to the reason® why it is necessary for the 5w to say *192, and "ny7 is
not sufficient, continues M50, for when he testifies that it was written

" This Mmpo1n is better understood after previously learning the following 1ox "7 Moo

2987 0R X017 7"

? The X"w i is w7’ 07 here as well. See footnote # 8. It is not clear according to this X07°» what NN
explanation is, either according to 727 or X27. Seemingly '01n reasoning is not necessary according to 737,
since it is hearsay if they say 1137, so they will surely not be believed. See following footnote. X237 on the
other hand maintains that 1197 is accepted, ¥"¥1,>"Xon2 "¥.

* According to 727 that 1"92 is the testimony that the v was executed 72W?, it is obvious that >ny7 is not
valid. One cannot testify that the vx was executed W%, unless he was present at the writing and signing of
the v3. Otherwise it is hearsay. 727, however, claims that everyone, including X271 will agree that *ny7 is not
valid. mpoIn is explaining that even if the reason for saying 1" is on account of 21’p, nevertheless the mow
will not be believed if he merely says ‘I recognize the signatures’.
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and signed in my presence he is more meticulous to be assured that it was
indeed executed properly -

= NPT MNINYIN AN XD X1 52D HUY) 2192 9INYI NIV NPUIIN ¥9197
For he will incriminate himself greatly when he says ‘everything was
done properly in my presence’ when in fact he did not see it actually
happen. This incrimination is greater than in a case where he merely said ‘I
know the signatures’.’
X237 counters that even though *ny7 is not 12X1 by one 2w, nevertheless if two people say
17 they will be believed. Therefore, there will be the wwn of %X if the 7w will not
say 2n31 °193; as follows: By v o1p, if two people will testify 1197 (instead of the mow)
they will be X3, just as by muw ovp.° This makes vx1 0vp similar to mAvw arp. In both
instances 1T is believed. People will then (mistakenly) say, just as by L7 01 one MW
is 7aR1 for o1p by saying onmil °193, the same should be true by m1nvw orp. Therefore
according to X271 the %W is required to say 2021 °192, to prevent 917K,
In order for 727 to justify his dispute with &27, he (727) must maintain that (even if we
were to assume to avy of 2P, nevertheless) *217m°K% °nX X7, The reason why (7720
maintains that) "5 *NX X% must be’ because 727 maintains that even if two people
testify 11y, it is not valid by v, The following question (on 7727) is; why should two
0>7v not be believed when they say 1y (if we are to assume, as 7127 must [in order to
refute X27], that the reason for saying 1"92 is on account of 21°p)?

nooIn asks:
- N29Y 15 NasYy 8’5‘\9‘1’ 931 NY INNIN 9NN ON)

And if you will say; why indeed is 11w7> not valid according to 729 as
opposed to 839 who maintains that it is valid -

= WYY DIYN RNYL M"N NADT OIVN TN by
Perforce you will have to say, that 7>y 1°X 137> because according to 729
the reason for saying 1"92 is on account of 572w, Therefore it follows that even

if two people claim that they know that it was written 7w> (but they themselves did not
see it being written nnWY), it is not an acceptable testimony. It is merely hearsay. If,

> In the latter case, if he is disproved, he can always claim that he made a legitimate mistake. In the former
case, however, if he is disproved, there is no way he can justify his lie. That is why we require the > to
testify "193, for this will assure us that he will be very meticulous in his preparation and subsequent
testimony. We have now established that *ny7> will not be valid neither according to 727 or ¥27. Therefore
727 maintains that there is no 217X,

% See o91wn "1 '0 in the following 10X 77 "o,

7 See “Thinking it over’.

¥ Most commentaries agree that the words *ny7 in this Moo\ (from this point on) should be read or
understood as 1¥7. We are discussing two 0°7v who claim they recognize the n°ni. The X"wAnan is 07
Y7 in this entire M201N. See footnote # 3. See ‘Appendix’.
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however, the reason for saying 1"92 is on account of avp, then if 2°7¥ say 1T (we
recognize the Nn°nn), it would be a proper a1p, so -

= 0P DIYN NNYL Y9197 N9 99N KXY NNAYL INN N9 SWPN ININY
The original question remains; why does 7729 not agree with 829 who

explains that the reason for saying 1"92 is on account of 2yp therefore it
would subsequently follow, that if the reason for 1"92 is o1p, then —

- 919N SN NYT AN2) 9393 T8 INYTS 319
and 1y7 would be a valid testimony, for two 27V are being 0pn the ©3
and the reason why it is necessary for the MW to state ans1 %103, is that we

should not confuse mavw avp which require two 0>7v with va1 1P, where one m9w
is believed (if he says 1"5211"92).

In summation: 7127 disagrees with &37, because according to 827 the 7°%w should not be
required to say 2n21 °192. It has nothing to do with avp. However X217, while he agrees that
an>1°192 is not necessary for 0P, nevertheless he maintains that 2131 °192 needs to be said
to avoid *2%m°X. The question whether there is a concern of *»%1°X"? *nX or not, hinges on
whether 1157 is believed. If 11v7 is 12X1 then there is 971X, and if 11¥7 is not uK3, then
there is no wwn of 'd21°X. The question whether 1v7° is believed depends on the reason
for saying 1"92. If it is because of nnwY, then 11¥7° cannot be believed since it is hearsay. If
we say 1"92 on account of a1p, then 1¥7° is a proper 01p. Therefore 7127 cannot claim that
X217 is wrong in maintaining that there is a wwn of *®%m°X since 1¥7 is not valid, because
according to %27 who holds of o1p, then 11¥7 is 7K1, 727 should agree that according to
X117, saying 1VT> is acceptable. The question remains why 7127 disagrees with X27. If 7127
were to accept the reason of 01°p, then 11¥7> would be j2X3, which, in turn, will explain the
need to say 2n21°191 in order to prevent *917m°, and everything works out!

Mo0IN answers:

= (X0 97 19P) 72 2992 YWI2T PNINN NINT PNNY 13229 9IIN)
The >''1 says that based on a 1w in the beginning of the second P9p, is
where 7127 derives the ruling that 11¥7> is unacceptable by 1v°3. He does not base his ruling

(only) on a 8720 -
= 9Y2 0NN 12292 DYIIIN DY 2NI) 2192 9N THN NPT

for the mwn states there: ‘If one person testifies ans1 123 and two people
testify anm: 117192, the v 1s 9w2’. From the fact that the 71wn states that the 3 is W3
when the two testify that it was signed in our presence, and the 71wn did not state that it

would be w2 if the two testified that we recognize the N nm —
= 9319 N YT NAYY 1D ynRwn
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7127 infers from this mwn that 1v7° is not acceptable’. This is a ruling based
on the 71wn, and not merely on logic. One may argue the reason of this ruling; however
the ruling is clear that *37 X 1v7°. Therefore there is no *9%m°X% *nX. Therefore if the ayy
of 1"92 is on account of 2P, there is no need for 2n31°192. That is why 7127 does not agree
with X27.

SUMMARY

Both 7127 and X237 agree that if a single 5w says °nyT> concerning the nwnn
he will not be believed. The o2 believe him only if he says °192, for then
he is very much 71 in order not to be 7°ws1 ¥y7n.

Concerning 1¥7° by two 27V for va7 01p there is an argument between 1727
and N27. 727 maintains X1 °R and therefore "9171°RY "nX XS, while X239
maintains 11X3 and therefore 577X *nX. The reason why 727 maintains that
1YT 1s not X1 is not merely because he is of the opinion that 1"92 is said on
account of 7MW, thereby automatically invalidating 1vy7. If this were the
only reason we would remain with the question why does 1127 disagree with
¥29. Rather 727 infers from a mawn that *37n X% 1y7. The mwn states that if
one person said 2131 °192 and two people said onn1 °192, the V3 1s W2, If 2T
would also be w2, the m1wn should have stated instead that if two people
said 12y it 1s (also) "w>. The fact the 71wn did not state that Y7 1s W2, 1S
ample proof according to 1727 that >3 XD 1y7.

THINKING IT OVER

Moo assumes that 727 must maintain 37 X2 uy7.'° Otherwise he would
agree with X217 that *27%mX% °nXk. Why cannot we say that 7127 agrees that
according to X217 the rule is that 17 11777 Nevertheless he does not agree
with X217 that Y7 is a cause for "»m°RY “nX. If "nv7> would be K31, that
would be cause for *»2°R, but not 1y7. The people will only see that two
07y are believed'' for vag ovp.'2

’ The commentaries (see 0"7nn) ask; if 727 infers from that miawn that >In 8 w7, then he can refute X237
directly from that 771wn, as follows: How can X237 say that the reason is on account of a1p, for if that is so,
then 1v7 should be acceptable since it is a proper o1p. The only explanation why 11 R? 127, is, that we
assume the oyv of nnw5. They answer: from that 71w alone ¥21 cannot be refuted. ¥27 will claim that the
reason why 171 R? 11¥7° is because of *212°K? "nk. The question will then be, however, since >3 X? 1297 on
account of *»17mR, why does our mwn require the saying of 2033 °193, since there will be no *217m°X because
1 X7 Y. See 181 7"'7 Mooin footnote # 14. (See [however] n"'mi.)

1 See footnote # 7.

' See following Yox 717 '0I0 in the 02w ' w11d footnote # 12.
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APPENDIX

The %"wann is °ny7> 07 in the entire M0 as opposed to the other
commentaries, whose opinion was cited above. According to the "w2nn this
mooin is in disagreement with the following NM»doIN, and accepts the opinion
of >"wA that 727 and X217 argue whether ny7> is X1, Originally nwon
understood that according to 727, saying °n¥7 is not valid since in our 7Iwn
it states clearly that the % must say °192. Furthermore, 727 maintains, that
even if the reason for 1"92 would be on account of 21°p, as X217 maintains,
nevertheless the ruling of the mwn which requires 192 is logical. °192 is a
stronger deterrent to lying than 11v7 is.

%27 will maintain that °ny7 is 783. When the 71wn states that the mbw is
required to say °193, that is only the preferable requirement — 72°1na%; if
however the 77w did not say °193, he said *n¥7° instead, it will nevertheless
be valid — 72y°72.

moon asks that seemingly this npY?nn between 1727 and X273 if “ny7 is JaK1
72v°72, is dependent on the other NP9 between 1727 and X271 if 1"92 is on
account of Mw? or an account of op; as explained at length previously.
Moon answers that 7127 infers from the 71wn that even 1¥7 is not valid, so
certainly >n¥7° is not JAX1.

12 See 7 1°2,2" 1 and (1"7Y) in ((NIRY 71773) 31 MK 7"0.
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